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2071202a600°8A UGGa6Y»fi &3 14m400

AU _ 2g°U0A 15=21/8°5a1, =(* Afail 45,752,763.0 42,283,615.5 3,469,147.5
- AUAZOET 12E&°8 5,898,211.2 5,267,642.1 630,569.1
-T28£72E 12E6°5 37,341,271.8 34,502,693.4 2,838,578.4
- 12312125200 D2U=1 223200 2,513,280.0 2,513,280.0 -
P3U3RE3ANS(CY p3YIC S¢3T6aiAl=0u CA3T3Y36140

01| o7 L il i u3(;ﬁ»+§éEé6l‘JY»ﬁ(; ir=.ch 2,056,248.6 1,861,148.1 195,100.5
ST Afail DD yCY3YEY»AC  ,TaYaUCT=0C V=3 E=n=najAlacy 2,056,248.6 1,861,148.1 195,100.5
AUAZOAT 12E6°8, 3(t Aail 336,436.8 281,066.1 55,370.7
25820g0°8£ 10020 ~ 12&20a0A02000°5%
1 6=3020 12E806, i A4 336,436.8 281,066.1 55,370.7
2{f [2Eé»f, 201 Afail 336,436.8 281,066.1 55,370.7
2[f 13¢3{a0A140YV»1C Oreup»iU=Y T3Eérf 336,436.8 281,066.1 55,370.7
T=2a£7=2E 12E6°8, 3(1 Atal 1,719,811.8 1,580,082.0 139,729.8
T24£T2E U°5 _ 5200U°8K 12E6°8,3(1 Aiail 1,679,899.2 1,543,739.4 136,159.8
T=2a£7=E 21141 U°8k 0°&g” ©5¢=U 12E&°8, 3(1 Afall 1,679,899.2 1,543,739.4 136,159.8
E31UrAC ~ 2RI TANAIUV»TC O»elsiU=Y 12Eérh 1,592,005.8 1,462,986.0 129,019.8
2(f 3TTCTY»AC O»elp»iil3Y IS Eéxfi 87,893.4 80,753.4 7,140.0
T=a£72E UasaTaogUosk 12E6°8 39,912.6 36,342.6 3,570.0
P3U3REZANS(CY p3YIC S¢3T6aiAl=20u CA3T3Y=36140

03] 03 N 3'|'3(;ﬁ3i3'l'=gY u3ﬁ»(;+élg;é60Y»ﬁ(; »ﬁ'l'ﬁ%ﬁl 1= ¢ 915,383.7 7140000 201,383.7
St A4l PP SAL3n=1STARISY Y3 ESA=nathlary 915,383.7 714,000.0 201,383.7
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S8 TUTOe2ET2T20 _ 262T289020 pa_ 121U°8E T 3AT3{cY p3USYCY3Y
2(J1202600°8A UCgadY»i &= Tanail

AUAZOET 12E6°8, 21 ATail 162,470.7 126,735.0 35,735.7
Z2a0=2UgUCSE ugd=2U " 12e=2UabAuaduucesE
e e aog S Aral 162,470.7 126,735.0 35,735.7
=f 1=Ee»n, 30 AT 162,470.7 126,735.0 35,735.7
2 126 2Ta0AIA0Y Y1 OvelpriU=Y 12Een 162,470.7 126,735.0 35,735.7
T2a£12E 12E6°8, 201 ATl 752,913.0 587,265.0 165,648.0
T2a£T2E UO8 _ 520000k 12E695, 512 A&l 752,913.0 587,265.0 165,648.0
T2a£12E bEU252520A020 12E6°5 434,790.3 339,150.0 95,640.3
UZE=9120°12%a0 2120 126693 251,720.7 196,350.0 55,370.7
T2a£12E 211£1 USBE 0°6n” ©3020 12E6°8, 312 ATAl 66,402.0 51,765.0 14,637.0
ESAISAC ~ B2AU=TANAIUYHAC O»6UAUSY T2Eeh 66,402.0 51,765.0 14,637.0
BSUSIESTTSICY p=7TG S¢oToaIkI=Up GRaT=Y=6720

04| 03 D iay éﬁs.l% o o navyat by o 1,886,03L.0 1,775,967.9 110,063.1
SUL ATAIU DD TRAGOAISY -1 a0Al=Y VS E=R=nachlany 1,886,030 1,775,967.9 110,063.1
AUAZOET 12E6°8, 21 ATail 1,113,018.9 1,080,246.3 32,772.6
Za0=2UgUPSE ug=2U " 12e=2UabAuaduucesE
3 oozl 12£858, =1t A4 1,113,018.9 1,080,246.3 32,772.6
=f 1=Ee»n, 302 AT 1,113,018.9 1,080,246.3 32,772.6
2 1262Ja0AIA0Y Y1 OvelpriU=Y 12Een 1,113,018.9 1,080,246 3 32,772.6
T2a£12E 12E6°8, 201 ATl 773,012.1 695,721.6 77,2905
T2a£T2E UO8 _ 500Uk 12E695, 312 A&l 753,984.0 678,585.6 75,3984
T2a£12E 2111 USBE 0°6p” ©3020 12E6°8, 312 ATAl 753,984.0 678,585.6 75,398.4
2(f 3TTCTY»AC O»elp»iiU3Y IS Eéxfi 753,984.0 678,585.6 75,398.4
T2a£72E UadcafaocgUesk 12Ee°d 19,028.1 17,136.0 1,892.1
P3U3RE3AN3(CY p2YIC 3¢3T645A130p CA3T3Y36140

05| 04 Achi=HCACY Ni.l.3%1»%é5 N o 631,533.0 467,241.6 164,291.4
51 ATaiU DD S6a0CoASNAAISY V=B S natAlany 631,533.0 467,041.6 164,291.4
AUAZOET 12E6°8, 31 AT&il 335,687.1 248,329.2 87,357.9
2252UpU°sE U020~ 12620a0A0a0UUCBE
3 Ooaget 1oea0s, o1 Arall 335,687.1 248,329.2 87,357.9
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&8 7 40 TUTee2q£T2T20 _ 2621257020 pa_ i 21U°E T 3A13cY p303yCY3Y
2(Ji202060U°38A UGga6Y»fi &= qafiail

2(f [=Eé»i, =0t ATail 335,687.1 248,329.2 87,357.9
2(f [36304iA0a0YV»1G O»6up»il3Y T3Eé»i 335,687.1 248,329.2 87,357.9
T24£72E 12E6°8, 3(1 ATal’ 295,845.9 218,912.4 76,933.5
T2a/£72E U258 5200U°SE 12E6°8 3(1 Aiail 256,540.2 189,852.6 66,687.6
T24£72E 2T1£1 U°8L 0°eg” °82=20 12E68°8, 3(1 Aiail 256,540.2 189,852.6 66,687.6
E3fU»AC " eSAUS TanailY»iC O»éuu»Al3Y I3Eé»h 137,837.7 101,994.9 35,842.8
THSV8RANT2ICY UCCA0Y»AC Or6Up»AU=Y TSEé»f 51,122.4 37,842.0 13,280.4
2(f 3TUCTY»AC O»elp»iiU3Y IS Eéxf 67,580.1 50,015.7 17,564.4
T2a£72E UadaTao0Uosk 12E6°5 39,305.7 29,059.8 10,245.9
p3U3RE3AN=(CY u=YTC¢ 3¢=T064aiAI=0u CAZT3Y=26140

05| 05 2éé693é3N3'l'gY‘§l3U=§'l'3%- c 3ﬁ1g3.F§Y3603Y e ci 2,737,261.8 2,373,300.3 363,961.5
3(1 ATail DD 36a0c3A3NaiAI3Y YSE3n3nasAlacy 2,737,261.8 2,373,300.3 363,961.5
AUAZOAT 12E8°8, 3( ATail 427,329.0 406,016.1 21,312.9
286=0pU°Bk 110020~ 12&20a6AU260U°8E
1026020 12£898, 201 Af40 427,329.0 406,016.1 21,312.9
2 [=Eé»n, 20* ATail 427,329.0 406,016.1 21,312.9
2(f [363(40A040YY»AC O»6up»il3Y 13Eéxi 427,329.0 406,016.1 21,312.9
T2a/£72E 12E6°8, 3(1 ATail’ 2,309,932.8 1,067,284.2 342,648.6
T2a£72E U268 _ 5200U°8k 12E6°8,3(1 Aiail’ 1,742,409.9 1,467,769.8 274,640.1
T2a£72E PEU262820A020 12E6°5 65,152.5 58,655.1 6,497.4
U=E=2912po12va72120 12E6°5 19,670.7 18,099.9 1,570.8
T2AET2E 2TTE1 U°8L 0°e g™ 26020 12EE°6, 3(t Aiail 1,657,586.7 1,391,014.8 266,571.9
B3AU»AC ~ 62AUZTaNAIUY»AC O»elp»AU3Y T=2Ebxf 1,601,787.6 1,340,820.6 260,967.0
2(f 3TUCTY»AC O»elp»iiU3Y IS Eéxf 55,799.1 50,194.2 5,604.9
T2a£72E UadaTao0U°sk 12E6°5 567,522.9 499,514.4 68,008.5
DUSRESANICY p=VIC =¢=T64AI=0p CH=T=V=6140

06| 05 846G33T3Y éis't{é3$éﬁA%3Y AEAFTC T363T3AUSY Th=- G 535,714.2 475,381.2 60,333.0
3(1 A4l DD yOV3YEY»AC ~ ¢ 1aValCT=(C Y2 E3i=nasAlasy 535,714.2 475,381.2 60,333.0
AUAZOAT 12E8°8, 3( ATail’ 140,336.7 125,307.0 15,029.7
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[fﬁ Iy ;T_ﬁ TUTPE29ET2T20 _ 2862T2892=20 ba_ 1 21U°6k I3iI30cY p303yCY3Y
2(J720a60U°sA UGgadY»fi &3T1anail

2562U0gU°sL MUG2U0 ~ 12e20a6AUasUUesk
1626020 12E8°6, (1 Afail 140,336.7 125,307.0 15,029.7
2(f T=Eé»n, 30 ATail 140,336.7 125,307.0 15,029.7
2(f [=26=3(4a0A040YY»AC O»eup»iil3Y TS Eé»i 140,336.7 125,307.0 15,029.7
T284AT2E 12E&°5, 3(1 Ajail 395,377.5 350,074.2 45,303.3
T284£12E U286 _ 5a60U°dLE 12EE°8,3(1 Afail 322,585.2 286,421.1 36,164.1
T2A£T2E 2T1£1 UOBL 0Pe g™ 28020 12E8°8, 3t Afail 322,585.2 286,421.1 36,164.1
@3fu»iC " e3AUSB TaNaiUY»AC O»éup»Al3Y TSEé»h 186,282.6 166,362.0 19,920.6
2(f 3TTCTY»AC O»elp»iil3Y IS Eéxfi 136,302.6 120,059.1 16,243.5
T2a8£T2E UasaTacgUesk 12Eé°s 72,792.3 63,653.1 9,139.2
P3U3RE3ANS(CY u3YIC 3¢3T1645AI30u CAZT3Y26140

08| 02 F20203{CY cre&i6U=Y TA=-Ch 1,463,450.1 1,207,017.0 256,433.1
31 ATail’ PP 1363 13iaAl3Y SE3T3T3430 1,463,450.1 1,207,017.0 256,433.1
AUAZOLT 12E&°9, 3(* ATal’ 170,003.4 170,003.4 -
2562U0gU°s8L MUG2U0 ~ 12&20a6AUasUU°sk
1626020 12E8°6, 301 Afail 170,003.4 170,003.4 -
2(f T=Eé»n, 30 ATail 170,003.4 170,003.4 -
2(f 1263(40A040YY»AC O»éuu»fil3Y T3Eéx»h 170,003.4 170,003.4 -
T284AT2E 12E&°5, 3(1 Afail 936,446.7 680,013.6 256,433.1
T284£712E U286 _ 5a60U°dLE 12EE°8,3(1 Afail 175,037.1 150,368.4 24,668.7
UZE2912p°12va12120 12EE8°6 37,556.4 37,556.4 -
T284£T2E 2TT£1 U°SE 0°e g™ 28020 12E6°8, 3(1 Afail 137,480.7 112,812.0 24,668.7
E3fU»AC " eSAUS TanailY»iC O»euu»Al3Y I3Eé»h 81,074.7 56,406.0 24,668.7
2(f 3TWCTY»AC O»elp»iiU3Y TSEé»i 56,406.0 56,406.0 -
T2a8£T2E UasaTacgUesk 12Eé°s 761,409.6 529,645.2 231,764.4
126121202060 b2021 264060 357,000.0 357,000.0 -
AAUSYCSIC %30 S6USY 13RI-C PBY1C 3¢ 16aAISUN

08| 04 CAST3Y=26140 2AU=1CiC UShike Talaibas N=2U=T30-¢ 610,969.8 476,380.8 134,589.0
A3%3A3Y3(CY T3(3YC T3é46U3Y 13- Ch
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@ [ N TUTCE= T=2(] =za=21=2 20193 i=210)e AY13U»YA = 3ET3(CV 3(BYCY3Y
W (3 W TUTCE29AT=21 U__b & | E?_‘ITQ\UDabl 1UCOE i nI’U(;Y b3U yCY\Y
2(11202680°8A UGgadY»fi &= a4l
3(1 ATalU" DD T3A31u3ICY I36313AU3Y Y3E313AatAl3Y
CASICY TV »8a0AISY By ST3Y TAUCT 610,969.8 476,350.8 134,589.0
AUAZOAT 12Eé°9, 3(1 Afail 263,680.2 184,212.0 79,468.2
250620gU°s8k MUZ=20 ~ 12&20a0AUasUUCsE
1628020 12E6°6, 301 Afail 263,680.2 184,212.0 79,468.2
2(t I3Eé»n, 301 A4l 263,680.2 184,212.0 79,468.2
2(f 1=263045A040YY»AC O»e0u»iU3Y TSEéxf 263,680.2 184,212.0 79,468.2
T2AAT2E 12Eé°5, 31 Atal’ 347,289.6 292,168.8 55,120.8
T2AL£T2E U°d _ 5a060U°dE 12Eé°8,3( Afail 347,289.6 292,168.8 55,120.8
T2ak£72E bEU2826a0AU2U 12E6°05 347,289.6 292,168.8 55,120.8
M»AUBYC3C %37 - 36U3Y T2AT»AC p=YIC S¢3T645A1=0
08| 04 9 Cﬁ3'!'3Y3QTé© I:Eéé:éﬁ_l?3ﬁ’/z(; gﬁ3U3'_l_'3"l'3,r"1\3r'1’U"3Y . 1,288,591.5 1,229,793.6 58,797.9
ci3N»€36U3Y N3U3130-»AiC T»A313Y-YU3Y Ii=3-Ci
3(1 ATalU" DD T3A31u3ICY 136313AU3Y Y3E313AatAl3Y
CASICY TV T»8a0AISY By 3T3Y TAUCT 1,288,591.5 1,229,793.6 28,797.9
AUAZOAT 12Eé°9, 3(1 ATfail 66,402.0 66,402.0 -
250620gU°sk MUZ=20 ~ 12&20a0AUasUUCsE
1028020 12E8é°8, =t Aiail 66,402.0 66,402.0 )
2(t [3Eé»n, 301 A4l 66,402.0 66,402.0 -
2(f 1=363045A040YY»AC O»elu»iU3Y TSEéx»f 66,402.0 66,402.0 -
T2AAT2E 12Eé°5, 31 Atal 1,222,189.5 1,163,391.6 58,797.9
T2AL£T2E U°d _ 5a00U°dE 12Eé°8,3( Afail 1,222,189.5 1,163,391.6 58,797.9
T2AAT2E 2TTE1UCHL 0Pe g™ 25320 12E&°6, 3(1 ATaiU 1,222,189.5 1,163,391.6 58,797.9
2(f 3TTCTY»AC O»elp»iiU3Y IS Eéxfi 1,222,189.5 1,163,391.6 58,797.9
M»AUBYC2(C %31 - BOUBY T2ART»AC p2YTC S¢2T6aiAl=0p
08| 04 | 10 [CA=T=2Y=6140 PCAZTC USHkG ¢A3UST2T3ASASY 1,906,237.2 1,811,418.0 94,819.2
ch=N»é3603Y NBUST31-»AC I»AZT3Y - YU3Y T7=-Ci
3(1 AT4lU° DD T3AS1u3ICY 123€313AU3Y YSE313AajAl3Y
CAZICY TV T»e40AISY By T=T=Y TAUCT> 1,906,237.2 1,811,418.0 94,819.2
AUA2HLT 12E8°05, 3(1 ATail 179,928.0 179,928.0 -
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m 5‘ L TUTeEé2TAT=21 2U"_,, 262 | Za_ﬂQZ\U ba_1=21UPok i 3i |:’3UQY D3U3yCYf3Y

2UT2Ua6gUCoA UCcadY»hi é31anail

250620gU°s8k MUZ=20 ~ 12&20a0AUasUUCsE
2(t T=3Eé»h, 301 ATaiU 179,928.0 179,928.0 -
2(f 1=263045A040YY»AC O»elu»iU3Y TSEéx»f 179,928.0 179,928.0 -
T2AET2E 12E68°9, 301 Afal 1,726,309.2 1,631,490.0 94,819.2
T2AET2E U°d _ 5a60U°dE 12E&°8,3(1 ATail 1,726,309.2 1,631,490.0 94,819.2
T2AET2E 2TTET1UCBE 0Per” 25p2U 12Eé°0, 3(1 ATail 1,726,309.2 1,631,490.0 94,819.2
2(f 3TTCTY»AC O»elp»iiU3Y IS Eéxf 1,726,309.2 1,631,490.0 94,819.2
BSUSKESHSICY pYiC SeSTeatIS UL CRsT=T=6740

08| 04 | 11 p20=VI=ICY CRRUSTST2RZAUSY ~ cAi»6260=Y TR=-CA 1,839,906.6 1,363,918.5 475,988.1
3(1 AT4U° DD W3R TU3(CY 133 130U3Y YIE3i3AaiAI3Y
GRZICY TV I»6AI2Y A»1=T=2Y TAICT> 1,839,906.6 1,363,918.5 475,988.1
AUA20LT 12Eé°5, 3(1 ATail 411,406.8 382,596.9 28,809.9
250620gU°s8k MUZ=20 ~ 12&20a0AUasUUCsE
1628020 12E6°6, 301 Afail 411,406.8 382,596.9 28,809.9
2(t T=3Eé»h, 301 ATaiU 411,406.8 382,596.9 28,809.9
2(f 1=263045A040YY»AC O»e0u»iU3Y TSEéxf 411,406.8 382,596.9 28,809.9
T2AET2E 12E6°9, 301 Afal 1,428,499.8 981,321.6 447,178.2
T2AET2E U°d _ 5a60U°dE 12E&°8,3(1 ATail 1,428,499.8 981,321.6 447,178.2
T2ak£72E bEU2826a0AU2U 12EE°06 807,391.2 484,449.0 322,942.2
T2AET2E 2TTE1UCBE 0Per” 2op2U 12Eé°0, 3(1 Afail 621,108.6 496,872.6 124,236.0
2(f 3TWCTY»AC O»elp»filU3Y IS Eé»i 621,108.6 496,872.6 124,236.0
p3U3RE3AN=(CY u=YTC¢ 3¢=T064aiAI=0u CAZT3Y=26140

08| 04 | 12 off " 3YC RIS T2TSASAUSY  ci=fve36U=Y TH=-Ch 1,997,950.5 1,854,936.3 143,014.2
31 AT400° PP W3ASTU3(CY T3E313AU3Y YIE3A3AaiAl3Y
GRZICY TV I»6&5A02Y A 12TV TAUCT> 1,997,950.5 1,854,936.3 143,014.2
AUA20LT 12Eé°5, 3(1 Aiail 81,217.5 77,6475 3,570.0
2:4062UgU°sE U220 " 12&2UadsAUadsUuUesE
1628020 12E8°5, 301 Afail 81,2175 77,6475 3,5670.0
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@ [ N TUTCE= T=2(] =za=21=2 20193 i=210)e AY13U»YA = 3ET3(CV 3(BYCY3Y

W (3 W TUTCE29AT=21 U__b & | E?_‘ITQ\UDabl 1UCOE i nI’U(;Y b3U yCY\Y

2UT2Ua6gUCoA UCcadY»hi é31anail

2(f T=3Eé»h, 301 ATaiU 81,217.5 77,647.5 3,5670.0
2(f [=363(40A040YY»AC O»eup»iil3Y TS Eé»h 81,217.5 77,647.5 3,570.0
T2AET2E 12E89°0, 301 Ajail’ 1,916,733.0 1,777,288.8 139,444.2
T2AET2E U°d _ 5a60U°HE 12E6°5,3(1 ATail 1,660,906.8 1,540,062.3 120,844.5
T2a£T2E bEU252826AU2U 12Eé°5 320,871.6 297,523.8 23,347.8
UZE2912p°12v%a1212U I12EE°H 38,341.8 35,521.5 2,820.3
T2AET2E 2TTE1UCBE 0Per” 25p2U 12Eé°0, 3(1 Afail 1,301,693.4 1,207,017.0 94,676.4
E3fU»AC " eSAUS TanailY»iC O»euu»Al3Y I3Eé»h 110,098.8 102,102.0 7,996.8
2(f 3TWCTY»AC O»elp»fiU3Y TSEé»i 1,191,594.6 1,104,915.0 86,679.6
T284£12E VadaTacgUosk 12EE°8 255,826.2 237,226.5 18,599.7
O=2344YC3(C T=631=3iatAl=Y 3¢=2T64iAI=0u CA3T3Y=26140

09| 02 | 13 |P3U3T61=31 Ra-»-3%3(CY 6CTEAT ¢ Y»A - SPtATC T36466U3Y 12,631,159.8 12,631,159.8 -
17=-Ci
31 AT40U° DD (Y»A-»WCT3(C YSE3n3naiAlasy 12,631,159.8 12,631,159.8 -
AUAZ20LT 12E&°9, 31 Aial 397,733.7 397,733.7 -
280=2UgUeok MUZ=2U " 12é=2UabAUuabuucok
1025020 12E8°8, 301 Afail 397,733.7 397,733.7 -
2(f T=3Eé»h, 301 ATaiU 397,733.7 397,733.7 -
2(F 1263[40A0a0YY»AC O»éuu»fil3Y T3Eé»h 397,733.7 397,733.7 -
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T2a£T2E UadaTaoguUeskE 12Eé°H 107,349.9 89,999.7 17,350.2
PSUSRESANSCY p=YIC S¢31645AIBUN CA3T3Y 36140

05| 05 |26.2 |p=(=2&w=3YC 846C3E2T3Y Y»i1iiailY»AC NCUYS1A=UC »Af4aAL 71,400.0 58,226.7 13,173.3
Ii=-Cii
12aK12E 12E6°0, 301 Al 71,400.0 58,226.7 13,173.3
T2a8£72E U025 _ 5200U°8% 12E6°8,3(1 Afail’ 71,400.0 58,226.7 13,173.3
T=2a£T=2E bAU2828a0AU=2U 12Eé°s 42.375.9 35,592.9 6,783.0
T2a8£T2E 2TT£1 UL 0Ceg™ 25920 12E6°8, 31 Atail 29,024.1 22,633.8 6,390.3
2(f 3TWCTY»AC O»elp»fiU3Y IS Eé»i 29,024.1 22,633.8 6,390.3
D3USRE=AN3(CY p=YIC 3¢2T164iAI=0u CA3T3Y=26140

08| 04 |26.3 [p=i=E=YC 646C3EIT3Y VofirhailV»AC NCUYS2ABUG »hifiafit 17,850.0 14,565.6 3,284.4
17=-Ch
12aK12E 12E6°0, 301 Al 17,850.0 14,565.6 3,284.4
T2a8£72E U°5 _ 5200U°8% 12E6°8,3(1 Afail’ 8,960.7 7,104.3 1,856.4
T2a4£T2E bEU2628a0AU20 I12Eé°5 2,284.8 1,892.1 392.7
U2ZE=2912p°T2a72120 12E6°8 6,675.9 5,212.2 1,463.7
T2a£72E VasafacgUcsk 12E6°8 8,889.3 7,461.3 1,428.0
D3USRE=AN3(CY p=YIC 3¢2T164iAI=0u CA3T3Y=26140

14| 06 |26.4 [p=i=36T3VC 64603313V VofirhgilV»AC NCUYS1ABUG »hifidfit 58,905.0 48,016.5 10,888.5
17=-Ch
AUAZOET 12E6°0, 31 Afail 23,3835 18,242.7 5,140.8
2:282UgU°sE U220 " 12&2UadbAUasUUCsE
10oap0 12E656, Sl Afall 23,383.5 18,242.7 5,140.8
2{f [=Eé»h, 20 A& 23,383.5 18,242.7 5,140.8
2t [363(40A040YY»AC O»éup»il3Y 13Eéxii 23,383.5 18,242.7 5,140.8
T2a£72E 12E6°0, 301 Afal’ 35,521.5 29,773.8 5,747.7
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| 123812040 18291898, _ 52Ug £62T20260a0 3 Af40
=3 L= @23p£00°8E ©T1 ~Va6e°T20E0 12E&°5E AVISUYA
hifl TUTee2£T2T20 _ 286212587020 ba_ 121U°8K T3AT3(CY P3U3YCY3Y
2071 202600°8A UGgadY»fi &=4fiail
T2AET2E U°5 , 5200U°SE 12E8°8,3(t Aail 35,5215 29,773.8 5,741.7
T2a£12E bEU=52820A020 12E6°8 35,5215 29,773.8 5,747.7
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